

Provided for non-commercial research and educational use.  
Not for reproduction, distribution or commercial use.

# Serdica

## Bulgariacae mathematicae publicationes

---

# Сердика

## Българско математическо списание

---

The attached copy is furnished for non-commercial research and education use only.  
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on  
Serdica Bulgaricae Mathematicae Publicationes  
and its new series Serdica Mathematical Journal  
visit the website of the journal <http://www.math.bas.bg/~serdica>  
or contact: Editorial Office  
Serdica Mathematical Journal  
Institute of Mathematics and Informatics  
Bulgarian Academy of Sciences  
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49  
e-mail: [serdica@math.bas.bg](mailto:serdica@math.bas.bg)

**A DIFFERENCE METHOD FOR WEAK SOLUTIONS  
OF NONLINEAR PARTIAL DIFFERENTIAL EQUATIONS  
OF THE FIRST ORDER WITH A RETARDED ARGUMENT**

STANISŁAW ZACHAREK

**1. Introduction.** We consider here the initial problem for the first order partial differential equation with a retarded argument.

$$(1) \quad z_x(x, y) = f(x, y, z(x, y), z(\alpha(x, y), \beta(x, y)), z_y(x, y)), \quad (x, y) \in E$$

$$(2) \quad z(x, y) = \gamma(x, y) \quad \text{for } (x, y) \in E_0,$$

where  $y = (y_1, \dots, y_n)$ ,  $z_y(x, y) = (z_{y_1}(x, y), \dots, z_{y_n}(x, y))$

and  $z(\alpha(x, y), \beta(x, y)) = (z(\alpha_1(x, y), \beta_1(x, y)), \dots, z(\alpha_p(x, y), \beta_p(x, y)))$

$$\beta_i(x, y) = (\beta_i^{(1)}(x, y), \dots, \beta_i^{(n)}(x, y)), \quad i = 1, \dots, p.$$

The sets  $E$  and  $E_0$  are defined by

$$E = \{(x, y) : 0 \leq x \leq a; |y_i| \leq b_i - M_i x, \quad i = 1, 2, \dots, n\},$$

where  $a, b_i > 0$ ,  $aM_i < b_i$ ,  $i = 1, 2, \dots, n$  and

$$E_0 = \{(x, y) : -\tau \leq x \leq 0, |y_i| \leq b_i\}, \quad \tau \geq 0.$$

We assume that

$$(3) \quad (\alpha_i(x, y), \beta_i(x, y)) \in E_0 \cup E, \quad i = 1, \dots, p, \quad \text{if } (x, y) \in E$$

and  $\alpha_i(x, y) \leq x$  for  $(x, y) \in E$ ,  $i = 1, \dots, p$ .

**Definition.** A continuous function  $u$ , defined on the set  $E_0 \cup E$  is called a weak solution of the initial problem (1), (2) if:

(i) there exists a function  $\lambda \in C((0, a), R_+)$ ,  $R_+ = (0, +\infty)$ , such that the inequality

$$\frac{1}{|\lambda|^2} [u(x, y+l) - 2u(x, y) + u(x, y-l)] \leq \lambda(x)$$

holds for each triple  $(x, y)$ ,  $(x, y+l)$ ,  $(x, y-l)$  belonging to  $E$ ,  $x \neq 0$ ,  $l \neq 0$ ;

(ii) there exists a constant  $K > 0$  such that  $\|u_y(x, y)\| \leq K$  almost everywhere on  $E$  (we denote by  $\|\cdot\|$  the norm in  $R^n$ );

(iii)  $u$  satisfies on  $E$  the Lipschitz condition with respect to  $(x, y)$ ;

(iv)  $u$  satisfies almost everywhere on  $E$  the differential equation with a retarded argument (1) and initial condition (2) for  $(x, y) \in E_0$ .

Suppose that there exists a weak solution  $u$  of (1). In this paper we give sufficient conditions for the convergence of the sequence  $(v^{(m)})$ , where  $v^{(m)}$  are solution of a difference equation corresponding to (1), to the weak solution  $u$  of (1).

A difference scheme for the classical solutions of first order partial differential equations and partial differential-functional equations was considered in [1] and [2]. An existence and uniqueness theory for weak solutions of (1), (2) is given in [3], [4].

**2. Notations and assumptions.** For  $k, h_i > 0, i = 1, \dots, n$  we define  $x^{(j)} = jk, j = -n^*, -n^* + 1, \dots, -1, 0, 1, \dots, n_0$ , where  $n^*k = \tau, n_0k \leq a, (n_0 + 1)k > a$

$$y_i^{(j)} = jh_i, j = -n_i, -n_i + 1, \dots, -1, 0, 1, \dots, n_i, i = 1, \dots, n,$$

where  $n_i h_i = b_i$ . We assume that  $h_i \leq kM_i, i = 1, \dots, n$ . If  $m_0, m_1, \dots, m_n$  are integers, then we write

$$m = (m_0, m_1, \dots, m_n), m' = (m_1, \dots, m_n)$$

and  $(x^{(m_0)}, y^{(m')}) = (x^{(m_0)}, y_1^{(m_1)}, \dots, y_n^{(m_n)})$ .

Let  $\Gamma = \{m = (m_0, m') : (x^{(m_0)}, y^{(m')}) \in E\}$ .

$$\Gamma_0 = \{m = (m_0, m') : (x^{(m_0)}, y^{(m')}) \in E_0\}, \Gamma^{(i)} = \{m \in \Gamma : m_0 = i\}.$$

$$E^* = \{(x^{(m_0)}, y^{(m')}) : m = (m_0, m') \in \Gamma\}.$$

$$E_0^* = \{(x^{(m_0)}, y^{(m')}) : m = (m_0, m') \in \Gamma_0\}$$

We define functions  $\tilde{\varphi}_{i,k}, \tilde{\psi}_{i,h} = (\tilde{\psi}_{i,h_1}^{(1)}, \dots, \tilde{\psi}_{i,h_n}^{(n)}), i = 1, \dots, p$ , in the following way : for  $(x, y) \in E$

$$\tilde{\varphi}_{i,k}(x, y) = \left[ \frac{1}{k} \alpha_i(x, y) \right]; \tilde{\psi}_{i,h_s}^{(s)}(x, y) = \begin{cases} \left[ \frac{1}{h_s} \beta_i^{(s)}(x, y) \right] & \text{for } \beta_i^{(s)}(x, y) \geq 0 \\ 1 + \left[ \frac{1}{h_s} \beta_i^{(s)}(x, y) \right] & \text{for } \beta_i^{(s)}(x, y) < 0 \end{cases} \quad s = 1, \dots, n$$

Denote, for  $m \in \Gamma$ ,

$$\tilde{\varphi}_{i,k}(x^{(m_0)}, y^{(m')}) = \varphi_i(m); \tilde{\psi}_{i,h_s}^{(s)}(x^{(m_0)}, y^{(m')}) = \psi_i^{(s)}(m),$$

$$\psi_i(m) = (\psi_i^{(1)}(m), \dots, \psi_i^{(n)}(m)); i = 1, \dots, p.$$

We have  $(\varphi_i(m), \psi_i(m)) \in \Gamma_0 \cup \Gamma_1$  if  $m \in \Gamma$  and  $\varphi_i(m_0, m') \leq m_0$ .

We define the difference operators  $\Delta_0, \Delta_1, \dots, \Delta_n : \Delta_0 v(x, y) = \frac{1}{k} [v(x+k, y) - v(x, y)], \Delta_i v(x, y) = \frac{1}{h_i} [v(x, y) - v(x, y_1, \dots, y_{i-1}, y_i - h_i, y_{i+1}, \dots, y_n)], i = 1, \dots, n$  and  $\Delta v(x, y) = (\Delta_1 v(x, y), \dots, \Delta_n v(x, y))$ .

Let  $v$  be a function defined on  $E \cup E_0$ .

We write  $v^{(m)} = v(x^{(m_0)}, y^{(m')})$ .

We consider here the following difference method for the Cauchy problem (1), (2)

$$(4) \quad \Delta_0 v^{(m)} = f(x^{(m_0)}, y^{(m')}, v^{(\varphi(m), \psi(m))}, \Delta v^{(m)}) \text{ for } m \in \Gamma \setminus \Gamma^{(n_0)}$$

$$v^{(m)} = \gamma(x^{(m_0)}, y^{(m')}) \text{ for } m \in \Gamma_0,$$

where  $v^{(\varphi(m), \psi(m))} = (v^{(\varphi_1(m), \psi_1(m))}, \dots, v^{(\varphi_p(m), \psi_p(m))})$ .

We introduce

**Assumption H.** Suppose that :

- (i) the function  $f$  of the variables  $(x, y, u, q), u = (u_0, u_1, \dots, u_p), q = (q_1, \dots, q_n)$  is continuous for  $(x, y) \in E, u \in R^{p+1}, q \in R^n$ ;
- (ii) the derivatives  $f_{u_i} (i = 0, 1, \dots, p), f_{q_i} (i = 1, \dots, n)$  exist and they are continuous on  $E^{p+1+n}$ ;
- (iii) for  $(x, y, u, q) \in E \times R^{p+1+n}$  we have

$$0 \leq f_{u_i}(x, y, u, q) \leq L_i, \quad i=0, 1, \dots, p; \quad f_{q_i}(x, y, u, q) \leq 0, \quad i=1, \dots, n;$$

(iv) for each  $(x, y, u, q) \in E \times R^{p+1+n}$

$$\sum_{j=1}^n \frac{1}{h_j} f_{q_j}(x, y, u, q) + \frac{1}{k} \geq 0;$$

(v)  $\alpha=(\alpha_1, \dots, \alpha_p)$ ,  $\beta=(\beta_1, \dots, \beta_p)$  are continuous on  $E$  and satisfy (3).

We define  $L = \sum_{i=0}^p L_i$ ,  $h=(h_1, \dots, h_n)$ .

If Assumption H is satisfied, then for the weak solution  $u$  of (1), (2) there exists a function  $\eta$  of the variables  $(x, y, k, h)$ , such that

(5)  $\Delta_0 u(x, y) = f(x, y, u(x, y), u(\alpha(x, y), \beta(x, y)), \Delta u(x, y)) + \eta(x, y, k, h)$  for  $(x, y) \in E$

$$u(x, y) = \gamma(x, y) \quad \text{for } (x, y) \in E_0.$$

We define  $S_x = \{y \in R^n : (x, y) \in E\}$  and  $\omega(x, k, h) = \sup_{y \in S_x} |\eta(x, y, k, h)|$ ,  $x \in \langle 0, a \rangle$

### 3. The convergence of the difference method. Now we prove

**Theorem.** *If:*

(i) Assumption H is satisfied;

(ii)  $h_i \leq kM_i$ ,  $i=1, \dots, n$ ;

(iii)  $u$  is a weak solution of (1), (2);

(iv)  $\lim_{k, h \rightarrow 0} \int_0^a \omega(x, k, h) dx = 0$ ,

then the difference method (4) is convergent, i. e.

$$\lim_{k, h \rightarrow 0} (u^{(m)} - v^{(m)}) = 0.$$

**Proof.** Let  $r^{(m)} = u^{(m)} - v^{(m)}$  for  $m \in \Gamma$  and

$$(6) \quad t^{(i)} = \min_{m \in \Gamma^{(i)}} r^{(m)}, \quad s^{(i)} = \max_{m \in \Gamma^{(i)}} r^{(m)}, \quad i=0, 1, \dots, n_0.$$

At first we prove that there exist points

$(\bar{u}^{(i)}, \bar{q}^{(i)})$ ,  $(\tilde{u}^{(i)}, \tilde{q}^{(i)}) \in R^{p+1+n}$ ,  $i=0, 1, \dots, p$ , and  $c_i = (c_{i1}, \dots, c_{in})$ ;  $d_i = (d_{i1}, \dots, d_{in})$  such that  $(i, c_i) \in \Gamma^{(i)}$ ,  $(i, d_i) \in \Gamma^{(i)}$  and

$$(7) \quad \frac{1}{k} [t^{(i+1)} - t^{(i)}] \geq -|\eta(x^{(i)}, y^{(c_i)}, k, h)| + f_{u_0}(x^{(i)}, y^{(c_i)}, \bar{u}^{(0)}, \bar{q}^{(0)}) t^{(i)} \\ + \sum_{j=1}^p f_{u_j}(x^{(i)}, y^{(c_j)}, \bar{u}^{(j)}, \bar{q}^{(j)}) t^{(\varphi_j^{(i)}, c_j)}, \quad i=0, 1, \dots, n_0-1$$

and

$$(8) \quad \frac{1}{k} [s^{(i+1)} - s^{(i)}] \leq |\eta(x^{(i)}, y^{(d_i)}, k, h)| + f_{u_0}(x^{(i)}, y^{(d_i)}, \tilde{u}^{(0)}, \tilde{q}^{(0)}) s^{(i)} \\ + \sum_{j=1}^p f_{u_j}(x^{(i)}, y^{(d_j)}, \tilde{u}^{(j)}, \tilde{q}^{(j)}) s^{(\varphi_j^{(i)}, d_j)}.$$

We prove (7). Let index  $i$ ,  $0 \leq i \leq n_0-1$ , be fixed. It follows from (6) that there exist  $b_i = (b_{i1}, \dots, b_{in})$  and  $c_i = (c_{i1}, \dots, c_{in})$  such that  $(i, b_i) \in \Gamma^{(i)}$ ,  $(i+1, c_i) \in \Gamma^{(i+1)}$  and

$$(9) \quad t^{(i)} = r^{(i,b_i)} = u^{(i,b_i)} - \vartheta^{(i,b_i)}; \quad t^{(i+1)} = r^{(i+1,c_i)} = u^{(i+1,c_i)} - \vartheta^{(i+1,c_i)}.$$

Thus, we have

$$(10) \quad \frac{1}{k} [t^{(i+1)} - t^{(i)}] = \frac{1}{k} [r^{(i+1,c_i)} - r^{(i,c_i)}] + \frac{1}{k} [r^{(i,c_i)} - r^{(i,b_i)}].$$

In view of Assumption H and (4), (5) we obtain

$$\begin{aligned} & \frac{1}{k} [r^{(i+1,c_i)} - r^{(i,c_i)}] = \Delta_0 u^{(i,c_i)} - \Delta_0 \vartheta^{(i,c_i)} \\ & = f(x^{(i)}, y^{(c_i)}, u^{(i,c_i)}, u^{(\varphi(i,c_i), \psi(i,c_i))}, \Delta u^{(i,c_i)} + \eta(x^{(i)}, y^{(c_i)}, k, h) - f(x^{(i)}, y^{(c_i)}, \vartheta^{(i,c_i)}, \\ & \quad \vartheta^{(\varphi(i,c_i), \psi(i,c_i))}, \Delta \vartheta^{(i,c_i)}) \\ & \geq -|\eta(x^{(i)}, y^{(c_i)}, k, h)| + f_{u_0}(x^{(i)}, y^{(c_i)}, \bar{u}^{(0)}, \bar{q}^{(0)}) (u^{(i,c_i)} - \vartheta^{(i,c_i)}) \\ & \quad + \sum_{j=1}^p f_{u_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) (u^{(\varphi_j(i,c_i), \psi_j(i,c_i))} - \vartheta^{(\varphi_j(i,c_i), \psi_j(i,c_i))}) \\ & \quad + \sum_{j=1}^n f_{q_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) (\Delta_j u^{(i,c_i)} - \Delta_j \vartheta^{(i,c_i)}) \end{aligned}$$

for some  $(\bar{u}^{(j)}, \bar{q}^{(j)}), (\bar{u}^{(j)}, \bar{q}^{(j)}) \in R^{p+1+n}$ .

Since for  $j=1, \dots, n$

$$\begin{aligned} \Delta_j u^{(i,c_i)} - \Delta_j \vartheta^{(i,c_i)} &= \frac{1}{h_j} [r^{(i,c_i)} - r^{(i,c_{i1}, \dots, c_{ij-1}, c_{ij+1}, \dots, c_{in})}] \\ & \quad r^{(i,c_{i1}, \dots, c_{ij-1}, c_{ij+1}, \dots, c_{in})} \geq r^{(i,b_i)} \\ u^{(i,c_i)} - \vartheta^{(i,c_i)} &= r^{(i,c_i)} \quad \text{and} \quad r^{(i,c_i)} - r^{(i,b_i)} \geq 0, \end{aligned}$$

we obtain

$$(11) \quad \begin{aligned} \frac{1}{k} [r^{(i+1,c_i)} - r^{(i,c_i)}] &\geq -|\eta(x^{(i)}, y^{(c_i)}, k, h)| + f_{u_0}(x^{(i)}, y^{(c_i)}, \bar{u}^{(0)}, \bar{q}^{(0)}) r^{(i,c_i)} \\ & \quad + \sum_{j=1}^p f_{u_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) r^{(\varphi_j(i,c_i), \psi_j(i,c_i))} \\ & \quad + \sum_{j=1}^n f_{q_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) \frac{1}{h_j} (r^{(i,c_i)} - r^{(i,c_{i1}, \dots, c_{ij-1}, c_{ij+1}, \dots, c_{in})}) \end{aligned}$$

and

$$(12) \quad \begin{aligned} & \sum_{j=1}^n f_{q_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) \frac{1}{h_j} (r^{(i,c_i)} - r^{(i,c_{i1}, \dots, c_{ij-1}, c_{ij+1}, \dots, c_{in})}) \\ & + \frac{1}{k} [r^{(i,c_i)} - r^{(i,b_i)}] \geq (r^{(i,c_i)} - r^{(i,b_i)}) \left[ \sum_{j=1}^n f_{q_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) \frac{1}{h_j} + \frac{1}{k} \right] \geq 0. \end{aligned}$$

The estimations (11), (12) and (10) imply (7).

In a similar way we prove (8).

In virtue of (7) we have:

$$(13) \quad \begin{aligned} t^{(i+1)} &\geq [1 + k f_{u_0}(x^{(i)}, y^{(c_i)}, \bar{u}^{(0)}, \bar{q}^{(0)})] t^{(i)} \\ & + k \sum_{j=1}^p f_{u_j}(x^{(i)}, y^{(c_i)}, \bar{u}^{(j)}, \bar{q}^{(j)}) t^{(\varphi_j(i,c_i), \psi_j(i,c_i))} - k |\eta(x^{(i)}, y^{(c_i)}, k, h)|; \quad i=0, 1, \dots, n_0-1 \end{aligned}$$

and

$$t^{(i)} = 0 \quad \text{for } i \leq 0.$$

inequality (13) together with the condition  $\varphi_j(i, c_i) \leq i$ ,  $i = 0, 1, \dots, n_0$ ;  $j = 1, \dots, p$ , imply

$$(14) \quad t^{(i)} \geq -k |\eta(x^{(0)}, y^{(c_0)}, k, h)| (1+kL)^{i-1} - k |\eta(x^{(1)}, y^{(c_1)}, k, h)| (1+kL)^{i-2} \\ - \dots - k |\eta(x^{(i-2)}, y^{(c_{i-2})}, k, h)| (1+kL) - k |\eta(x^{(i-1)}, y^{(c_{i-1})}, k, h)|.$$

As a result of (6) and (14) we get

$$u^{(m)} - v^{(m)} \geq -k |\eta(x^{(0)}, y^{(c_0)}, k, h)| (1+kL)^{m_0-1} \\ - \dots - k |\eta(x^{(m_0-2)}, y^{(c_{m_0-2})}, k, h)| (1+kL) - k |\eta(x^{(m_0-1)}, y^{(c_{m_0-1})}, k, h)|$$

and

$$(15) \quad u^{(m)} - v^{(m)} \geq -M [k |\eta(x^{(0)}, y^{(c_0)}, k, h)| + k |\eta(x^{(1)}, y^{(c_1)}, k, h)| \\ + \dots + k |\eta(x^{(m_0-1)}, y^{(c_{m_0-1})}, k, h)|] \geq -M [k \omega(x^{(0)}, k, h) \\ + k \omega(x^{(1)}, k, h) + \dots + k \omega(x^{(m_0-1)}, k, h)] = -MI(k, h),$$

where  $M = \exp(aL) \geq (1+kL)^{m_0}$ .

In a similar way we prove

$$(16) \quad u^{(m)} - v^{(m)} \leq MI(k, h).$$

It follows from assumption (iv) of the theorem that

$$(17) \quad \lim_{k, h \rightarrow 0} I(k, h) = 0.$$

From (15), (16) and (17) we obtain

$$\lim_{k, h \rightarrow 0} |u^{(m)} - v^{(m)}| = 0.$$

This completes the proof.

#### REFERENCES

1. Z. Kamont. A difference method for the non-linear partial differential equation of the first order with a retarded argument. *Math. Nachr.*, **107**, 1982, 87-93.
2. Z. Kowalski. A difference method for the non-linear partial differential equation of the first order. *Ann. Polon. Math.*, **18**, 1966, 235-242.
3. С. Н. Кружков. Обобщенные решения нелинейных уравнений первого порядка со многими независимыми переменными. *Мат. Сб.*, **70**, 1966, 394-415.
4. S. Zacharek. Weak solutions of first order partial differential equations with a retarded argument, doctor's thesis (in Polish). Faculty of Mathematics, Physics and Chemistry. University of Gdańsk, 1983.

Department of Mathematics  
Technical University of Gdansk  
Majakowskiego 11/12, 80-952 Gdansk  
Poland

Received 27. 5. 1985